Your Name:

UCLA ID:
SECTION: Cross one box below [ Tuesday | forpt F

Rules: You MUST simplify completely and BOX all answers with an INK PEN. You are allowed
to use only this paper and pen/pencil. A one-sided hand-written formula sheet is allowed, No
caleulators, no books, no notebooks, no web access. You MUST write your name and UCLA id.
Except for the last problem, you MUST write out your logical reasoning and /or proof in full. You
have exactly 30 minutes.

Warning: At 1:50pm your OUTATIME, those canght writing after time get automatie 10% score

[Problon | Valus | _Score ]
i l‘\\)l\lcu\ 1 l K 7

| Problem 2 | 10

[ Problem 3 ' 10

; Problem 4 12

f Problem § | 10
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Problem 3. Compute the number of 4-subsets of {1,2,3,... '

(a) contain 5,
(b) contain only one prime number 2,3, &0
(¢) the minimum or maximum is 5,

(d) the product of three of the entries is 6.

You can write your answers in terms of binomials.

a) comws S, 3 o chaose from 7




Problem 4. Let X w {(l.u)‘(!.l&).(h&’).(l&ﬂ.(&h’).&&
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(&) The relation nduced from
Xy= {(&3.1).(3&’)} of X.
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